
Page 8-12 2009-2011 DS Golf Cars Illustrated Parts List

G

E

8

D

19

15 23

2

3

21

2

21

2

20

21

2

19

18

2

19

11

5

1 24

13

10

9

8

14119 8

16

9

4

12

11

8

17

000496-002



E

G

8

2009-2011 DS Golf Cars Illustrated Parts List Page 8-13

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

FUEL SYSTEM

1 1011988 Screw, 1/4-20 X 2.00 Phillips Truss-Head ........................................................................................... 1
2 1012649 Clamp, 0.460 Red Hose ............................................................................................................................ 7
3 1013687 Clamp, 3/8" Hose (screw type) .............................................................................................................. 1
4 1013746 Clamp, 0.301 ID Hose ................................................................................................................................ 2
5 1014116 Nut, 1/4-20 Speed ...................................................................................................................................... 2
6 1014928 Fuel Strap Assembly Rear ........................................................................................................................ 1
7 1016003 Kit, Fuel Tank  - Vented (includes items 8 through 14) ................................................................. 1
8 1013746 Clamp, 0.301 ID Hose .......................................................................................................................... 2
9 1015137 Fuel Line (available by the foot) ...................................................................................................... A/R

10 1015139 Insulation Grommet ............................................................................................................................ 1
11 1015143 Vent, Fuel Tank ...................................................................................................................................... 1
12 101824401 Vent Barb ................................................................................................................................................. 1
13 101896901 Fuel Pickup w/Shut-Off Valve ........................................................................................................... 1
14 102751601 Cap, Fuel Tank, Gasoline .................................................................................................................... 1
15 1017203 Carriage Bolt ................................................................................................................................................ 2
16 101824401 Vent Barb ...................................................................................................................................................... 1
17 101987701 Clamp, Plastic Tie ....................................................................................................................................... 1
18 102003201 Filter, Fuel, 30 Micron ................................................................................................................................ 1
19 102865101 Fuel Line ........................................................................................................................................................ A/R
20 N/A Kit, Fuel Pump Retrofit (includes items 21 and 22) ........................................................................ 1
21 103010101 Pump, Fuel, Impulse, Fh ..................................................................................................................... 1
22 103781201 Instr, Fuel Pump Retrofit .................................................................................................................... 1
23 8233 Locknut, 1/4-20 Nylon Insert ................................................................................................................. 2
24 8248 Screw, 1/4-20 X 0.75 Truss-Head Machine ........................................................................................ 1

Note: Total fuel line length: 47 inches (119.4 cm)


